
4+ 5 = 9
9 - 5 = 4

Captain 
Kraken?

How do 
we subtract 

5–9?

Aye, 
lad.

We can use 
addition to solve 

a subtraction 
problem.

To answer 9–5, 
we can find the 

number we add to 
5 to get 9.

Since 4+5=9, 
9–5=4.

Arrr...
Let’s try some 

examples ‘n’ see 
if we can figure 

it out. Start with one 
ye’ already know. 

What’s 9–5?

That’s easy. 
|f | start with 9 

and | take away 5, 
| have 4 left over. 

So, 9–5=4.

Be there 
other ways 

to think about 
subtraction?
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- 4+9 = 5
5 - 9 =- 4

7-10
-6-13
-8-4
5-(-3)

-2 -1 0 1 2 3 4 5 6 7 8 9 1o

4 5

54-4-5 -3 -2 -1 0 1 2 3 6 7

We could 
also show the 

subtraction on the 
number line. 

To solve 9–5 
on the number 
line, we start at 
9 and go left 5 

units to 4.

Aye.  
All excellent 
methods. Now, 

which o’ these 
methods can we 
be usin’ to solve  

5–9?

Grogg’s number 
line method seems 

best. To subtract 5–9, 
we can start at 5 and 

move left 9 units.

We subtract 
5 to get to zero, 
then 4 more to 

get to -4.

My way is a 
little trickier, but 

it still works.

To answer 5–9, 
we can find the 

number we add to 
9 to get 5.

Since 
(-4)+9=5, 
5–9=-4.

Try a few 
more.Good.

5–9=-4.

Try them.
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-3 -2 -1 0 1 2 3 4 5 6 7

73

7-10
=-3

-6-13
=-19

-19 -6 0

13

-8-4

=-12
4

-12 -8 0

5-(-3)

0 5

?
? ?

5-(-3)=
+(-3)= 5

5-(-3)=
+(-3)= 5

8
8

When we 
subtract 7–10, we 
go 3 units below 0. 

So, 7–10=-3.

We can 
solve -6–13 

on the number 
line, too.

-8–4 is 
-12.

Hmmm.  
|’m gonna 
need a little 
help here. How do

 we subtract 
a negative? 

Maybe we 
can try to solve 
5–(-3) using 

addition.

To answer 
5–(-3), we need 

to find the number 
we add to -3 to 

get 5.

Since  
8+(-3)=5...

...5–(-3) 
must be 8!

Starting at -6, 
we go 13 units to 
the left to land 

on -19.
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0 5 8

3

0 5 8

3

5-(-3)=5+3

8-2
5-(-11)
-3-4

-6-(-7)

*This is so important, we will repeat it: 
Subtracting a number is the same as adding its opposite.

|f 5–(-3) is 8, then | 
think | know how to 
subtract a negative 

on the number 
line! 

How, 
Grogg?

To subtract 3, 
you go left 3 
units on the 
number line. 

To subtract a 
negative 3, 
we do the 
opposite! 

To subtract 
5–(-3), we start 

at 5 and go right 
3 units.  

Neat. 
That means 

that 5–(-3) is 
the same as 

5+3. |s 
that right, 
Captain 
Kraken? 

| couldn’t 
have explained it 

better meself. Subtracting 
a number 

be the same 
as adding its 

opposite.*

We can rewrite 
any subtraction 
expression as 
an addition 
expression.

Try rewritin’ 
each of these 
as addition. 

 
5–(-3)=8. 

Rewrite 
each 

expression as 
a sum. 
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